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SHIE : 2023
Ol AFREZ @ 20f 4

sHe - [El2

® NS=X5= SRR

> 2 A E| = Al E|

g = Loloh | FMEHELoI0 =2 N | BEcxE =2

= 3 1,178,905 1,216,005 A37,100 1,178,905 1,216,005 A37,100
® g 2 0 0 0 10,000 48,100 38,100
2 z 2 0 0 0 0 0 0
oo a2 0 0 0 0 0 0
(gmﬂxfi &) 0 0 0 0 0 0
==L PN 0 0 0 0 0 0
o X 23 & 1,167,905 1,207,005 A39,100 1,168,905 1,167,905 1,000
of = =2 0 0 0 0 0 0
o X = ¢ 10,000 7,000 3,000 0 0 0
ol B & 9 1,000 2,000 21,000 0 0 0




SIHAE 20234
Oll&bRb== - 20 &t
AR IS

@ +YH= (

£l 2R)
Nop-g-S sge | 55 | m2 &E o
200 M2l 11,000 9,000 2,000
210 BAEN 2= 10,000 7,000 3,000
216 OlXt=—¢ 10,000 7,000 3,000
216-03 J|EtO| Kb~ 10,000 7,000 3,000
DXEIIZ X3 OlXt =
10,000,000& = 10,000
220 LAIEANI2I=L 1,000 2,000 21,000
224 J|Et=+¢ 1,000 2,000 21,000
22407 12|+ 1,000 2,000 A1,000
A& |12 JlEs=¢
1,000,000& = 1,000
700 EM=USLHEH N 1,167,905 1,207,005 A39,100
710 BE2S 1,167,905 1,207,005 39,100
714 0IXI23 % 1,167,905 1,207,005 A39,100
714-01 GIXI3&l == 1,167,905 1,207,005 239,100
NAEIZ txlz sl
1,167,905,000& = 1,167,905

= g & i 1,178,905 1,216,005 237,100




SIHAE 2023
Gll&FXE= @ 201A
SIHRE - A2
@ XA (EEREE)
XE .22 . HY O - NRAY - BAS X o few | vms2
Z0l1= Xt 1,178,905 1,216,005 A37,100
DIEST IS SRSy 10,000 48,100 A38,100
0| = MHESH 10,000 48,100 A38,100
IS (XHEI12) 10,000 48,100 A38,100
PNE:P =l i gage) 10,000 48,100 A38,100
307 212t0| A 10,000 438,100 A38,100
11 AMSISXAIEER 10,000 10,000 48,100 A33,100
NUESE F - 2y dUs T2 X
10,000,000& = 10,000
J|Et 1,168,905 1,167,905 1,000
MRES(F0SX D) 1,168,905 1,167,905 1,000
BEIE(XEIIZ2)(KHE]2) 1,168,905 1,167,905 1,000
SENE(XEDSD) 1,168,905 1,167,905 1,000
602 GXl= 1,168,905 1,167,905 1,000
01 BHilXIZ2 1,168,905 1,168,905 1,167,905 1,000
NXEIZ oxlZ2 1,168,905,000& = 1,168,905
AN 2 & A 1,178,905 1,216,005 237,100




SHAL 20234

Ofl &bXb4=

HTE - AIIs chel &)

OH

oy
% [©) = (OIREZE) OIR4g | JIEHY
20174 DHX 0 0 0 0
20188 0 0 0 0
20198 & 0 0 0 0
20208 = 1,241,718 0 0 0
20219 46,196 0 8,113 38,083
20228 = 9,000 0 7,000 2,000
20238 = 11,000 0 10,000 1,000
Al 1,307,914 0 25,113 41,083




SIAHHSE ¢ 20234
OlabRb= o 20 &

SR EII2 (crol: @)
B
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gze ye | UIBXE | SNEA | czsan | HA3R | M3 | 5 o0 o
Aritl gdl |23l | CISHE | cSAE

20173 DX 0 0 0 0 0 0 0 0
2018E 0 0 0 0 0 0 0 0
20199 & 0 0 0 0 0 0 0 0
202038 &= 0 0 0 0 0 0 0 1,241,718
20219 80,909 80,909 0 0 0 0 0 A34,713
20229 48,100 48,100 0 0 0 0 0 239,100
202348 & 10,000 10,000 0 0 0 0 0 1,000
Al 139,009 139,009 0 0 0 0 0 1,168,905




g = =1 Et
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SIHAE 20234
Ol AR © =0f Ak
SARE : K22 (69 &
o OIXl % OlEro
22 |ox(e)d . _ _ 1]
PRIECUBY | 02HCTLBHUG | 023HSLBTHAU® =2H(®-®@)
A 1,207,005 1,167,905 1,168,905 1,000
X2 By | 1,207,005 1,167,905 1,168,905 1,000
T2 1,207,005 1,167,905 1,168,905 1,000




